1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

e
o O
w ESN

=
o
N

107

1077

1078

[EEY

0.5

000 GeV pp Jets
= L L L L L L L B L L N =
';F | | | = %
C Filtered dijet mass (anti-k_(0.7), 2300<p_<450, y|<2.5) 3
= =p=
[ — N
= =
B 1o
= —
= H4
— e
E- =0
= 35>
— 1
= el
o™
= — <
= =M
= . 30
= CMS + =9
— - Herwig++ 2.7.1 default = i
E - Herwig 7.2.1 default m =5
— —a— Pythia 8.308 default - ®3oc
= - v-- Pythia 8.308 vincia-default Hc
- ¢ Sherpa 2.2.9 default 48
=3 =0
- 50
— H<a
=— — (&)
§| ] ] | | | | | | | | | | | | | | | | I§ E
:l T T T T | T T T T | T T T T | T T T I:
— =2
1
| —0.5
| 1 1 1
0

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


